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(For All Sessions)
Biology (Objective) Group - I (&)=l
Time:15 Minutes (ZMP = FQ/‘% Marks : 12
Note: Write answers to the questions on the objective answer sheet provided. Four possible answers are
given. Which answer you consider correct fill the corresponding circle A,B,C or D in front of each
question with marker or ink on the answer sheet provided.
S SANB e I3 el St zeen §¥din-n L by DCBAMRA R L s 22
1.1 The length of trachea is: :4_6ng?} L1
(A) 18cm (B) 16cm (C) l4cm D) 12 cm
2. The amount of urea in normal urine is: ::‘_Jﬂﬂﬁf(fpgfgﬂ St 2
(A) 73g/L (B) 7.7gL © 93 g/L/»;}? D) 9.1 g/L
3. The hormone that increases the blood ghicose level is: /“ ; :‘gtw_f dﬁéi/fuﬁ'uiﬁdw@ i3
(A) Insulin S (B) Cale;'fto hin SNl
(C) Adrenaline g:’(_;,,y (D) Gll{cagoa / ™ 871
4. Total number of bones in both hands is: . }\og/,u“uﬂ s 4
#) 34 ® #7L/ N\O \ ~ (D?\
5. Which one is the latest method of vegeta(ve agaén" Z’m"c.ul\..g <u/,c@(<‘%¢ s mf e a5
(A) Cloning A _X{\\ (B) Budding ™ S %
(C) - Cuttings / \\ raftmg S
6. Which one is the exan]de of stetq tubers? 7 (ﬁ e sufJedif Levta 6
(A) Dasheen dg/ (}K Pota AN (C)‘\OI%J’/ J (D) Tulip Juf
7. Which q{e\ B%e following is‘g\ene:ii:\t\atenal" N febofulfinedig T
(A) ,{nRN (B) tR‘NA N\ (C) DNA (D)  RNA
8. Theéph’éﬂyplc rég) at F in the lawof mﬁﬁ;ﬂ? e BB ASF, Lot e ia$iiiTy g
assortment 1%; » N\ T
Ay 9:3:3\J (B) 9:3:‘;/;),} €€ 9:3:1 D) 9:3:3:2
9. Thickness of blospger& is about: :q_ékr[f” FEREy 9
(A) 10 km /,K\g\ (B) H0km 0 (C) 30km 0 (D) 40km <Hao
10. Which plant is NOT caprfivorous? fie -4 Ul boglws 10
(A) SunDew s (B) Cactus 4
(C) Venus fly trap ATV (D) Pitcher plant Ny
11. Dolly is the name of: wblertdss W11
(A) Cow ¥2¢ (B) Goat §s4 (C) Rabbit ¢/f7 (D) Sheep ¢
12. Which of the following affects the production of sperms in men?  $oFiiws’ S LE padiony 12
(A) Marijuana AP (B) Codine o
(C) Morphine A (D) Mescaline P
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2. Write short answers of any five parts of the question. (2x5=10) i F ez L Gadl 2
(i} Whatis the difference between the functions of pulmonary artery and e AU L oS 2k § 2 500 (i
pulmonary vein?
(i) Write four symptoms of Emphysema.- L f el dh (i)
(iii) gﬁglgfri? tge concentration of oxygen and CO, in inspired AT Rl ks st Pissiteuss z oA (i)
Sl @i:;ﬂrwﬁ(fym&ju/{
(iv) Whatis the role of succulent organs in plants? s St Y T s, vuny  (iv)
(v) - Compare the role of kidneys and lungs in homeostasis. G I S L i S v v)
(vi) Whatis meant by a stimulus? Write its two examples. Lo e et e s (vi)
(v.Iiz What is di_fferenc_e between central nervous system and peripheral nervous system%}g‘qj/'_u’ VLV VI VYN ) )
"™ Wi tone oo Y L e e P ikoindrer i
3. Write short answers of any five parts of the question. (2x5=10) / ( S e P Ll S 3
(i) Differentiate between flexor and extensor muscles? ) | | »{{5 /_?u Sl L 3 Ay /93 (i)
(i) How many bones are present in skull of human? e \/“““\ st AU (i)

)

~
) What are suckers? Give two examples, /f/"‘ \ \ \\\-’s‘?-:n, ot nls. 4 (iif)
) Whatis meant by seed germination? Give interpé \ =, ;ﬁ@,mg.x e AP I 0 (iv)

”
conditions for seed germination. \ \
k - L“w\ \\\ \swz{ |25l Lo L DNA
\ \\"-\,..

(v) How strands of DNA are arranged? {
e balfr2TI (Vi)

(vi) Whatis translation? ,/\\ \\ ! /

(vif) Define incomplete domi.nanc. , ‘ \““”/’ (‘\\\\ | H S (il
0 Wttt o oo g e Ao i, oo
4. Write short answers of any five warts of the question. \ o (2s=10)/ -E ez Ll 8 4
(i} Write fouﬁaﬁ\exs of abiotic compongats of anéc\osystem. \\“««f// -u:"i (Ll LIy gu[.(‘"”;fr (i)

(i) Define A food weby, NN\ SYYEy LI
(i) WritgeToig of ba&x@a in nitrfication. \\\ \7”9 . s gl L i)

{iv) What are epip\MteS? Howdo they live? 3 ‘ e et A AU AT g (V)

(v) What is meant by faqmentation? & e e (V)

(Vi) Write any two benefits bf the us%f enter. e 3L s 5 (vi)
(vi}  What is the difference betieen pﬁémacy and pharmacology? S OV VG (Vi)
{vil) Define sedatives and gi\g Ample. e S ke (i)
Section - I1 (2
Note:  Attempt any two questions from the following: (9x2=18) A/ f ezl na$f e gt stmies
5 (@ How does skin and lungs work for homeostasis in humans?  (4) SIS KL Lo et JS e i (L5
(b)  Define cartilage and explain its types. (5) e p SIS Sy S s (O

6. (@ On touching a hot object our hand is nulled back. el e SO LU & s 2l 4 y
Define and explain this process. W oS e Saciala S s

Whatis vegetative propagation? Wiite about bulbs and corms. ~~ (5) S R AL podons feVoaSaln#ds (L)

7. {a)  Whyis genetic engineering considered a milestone in modern biotechnology? (4)  terels™ UK K Bt AL Y bed 1B (L).T

5 (b) Exp!ain the importance o{ yaccines in prgventing infectious =97, )Jf:,,, u."l?.e:?'tfw:‘g: < Lj.(f‘u 2edes (o)
: diseases and how they stimulate immunity? (5) & 2 g
I fe )/ S S

—
o
~
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Note:  Write adswers to the questions on the objective answer sheet provided. Four p0551ble answers are
given, Which answer you consider correct fill the corresponding circle A,B,C or D in front of each
question with marker or ink on the answer sheet provided.

-J/U&G/JLLu’{iufb/‘:,.d;’d_!(d_/u(fl(—a’)’y’»/d(dli &z DCBANZ L Ly i 12d
1.1 End of skeletal muscle attached with immovable bone is called: ot e btz e Yht P £ 20l ;P"a 1.1
(A) Insertion (7 (B) Joint ez (C) ligament «f (D) Origin sl

2. Itis the opening through which seed absorbs water: e bl Be e lirny 2
(A) Microphyle S (B) Hilum 0
(C) Integument Lo D) Testa/ T et

3. Adult population infected with HIV in Pakistan is: {" ~ ;_d;uu\u HIVSUAL uu’L 3
(A) 0.3 % B) 0.5% ©) \1 % D) 0.7 %

4. Which one is an example of co-dominance? L) Vg_d%d SN et 4
(A) Blood Group B L‘S?)f ) /_,:“TB) Group A‘” \ :._,;f 4k
(C) Blood Group O md (0 d et 2

5. The biologist who hinted at evolution for the ﬁ}\ttime as:  WEJSEAS o pl eI b D
(A) Darwin gt (B) Lamarck { (G) Buffon <‘\f/ (D)/, endal i

6. R-2 stands for? f/ “\ "LJ‘/U/(—R— 6
(A) Reduce Jwif (B) Reuse, JL«/MJL (NGC}&\ tu kol (D) Renewable .4 %
S
7. Presence of haustoria moé in some ﬁ\lanés is an example\_f v/g}' (i'»JmJ;erw'zg/#w’:u»g}: 7

H

(A) Muiiialism s Yo ‘) \(B) Commensalism (koS
©) P ra31t1\§m (AL )  Predation o gl 5
8. The vettor DNA }\\ the attached genei dffnterest afe ir.t'llr(/ub(fi-J:(Lﬁ,é)lkilrébﬂDNA/g 3
colle ely\c\alled
(A) GMO (B), Gene\ ¢f (O) R§eco binant ,M ¢, (D) Recorfibinant DNA DNA\:J,_;?;.’I/ ¢
9. Which antibiotics}ibacter idal? sl g /-ﬁuf Afiswd 9
(A) Sulpha drugs ”i‘:f/’? T - (B) Tetracyclines Py
(C) Cephalosporins /,/ P e (D) Thiazide diurctics g
10. The disease in which Walls of alveoli are destroyed is called: :w&lgbﬁ,}w;)(ﬁw A 10
(A) Asthma . 3 (B) Pneumdnia s
(C) Emphysema Lo dh (D) Bronchitis WalitY:
11. Amount of water in normal chemical composition of urine is: :?me&}g u:_,q;afu;fé%f}ég{ Jao L1l
(A) 85 % (B) 95 % (©) 75 % (D) 65 %
12. It controls the secretions of pituitary gland: PRIAYLL FEGF R, 12
(A) Hypothalamus LR (B) Thalamus S
(C) Cerebellum (k/ (D) Cerebrum (oA
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2. Write short answers of any five parts of the question. - (2x5=10)
(1) Where is cuticle present? Write its function.
(i)  Differentiate the pharynx and larynx.
(i) Write down any four symptoms of emphysema.
(iv) Define homeostasis and give one example.
(v) How kidney stones are removed by lithotripsy?

Marks : 48
sl >

-E e Lingedf 2
AP dnud L (

- F0pAS A (i)

g ehkiogh
-Gy f6u

e bt S b SU S L s LS (V)

(vi) Differentiate the receptors and effectors. //”’M\ BN ;Qiu;u et (Vi)

(vii) Write two main functions of spinal cord.

Y ;rm,cc,,/ oF) Lo (vii)
(viii) If a person lacks iodine in diet, which disease may occur? v/ \ “c_(jC wmy s ?ru’}hs-'l RIS u’( f {viii)
\

3. Write short answers of any five parts of the question. (2x5—10y\
(i) Define cartilage. Write names ofits.two types. e

(i) Differentiate between flexor and extensor mus e{\ \
(iii) 'What is fragmentation?

(iv) Which is called female gametophyte generatlo&h in pla ts?
(v) How nucleosomes are formed? . .

M {quuu y‘iélilébc.d/ 3
L AS S J,y.»fJ@,iws (i)
/J»w/"/fmm?” (i)

Ly ninlpe

..,u,szufau:uﬂg (iv)
{{f/ WELA i |

B e ‘* \ IR PR SR
(vii) Define transcription. AT “\ \ \ . / ey S” gy (vii)
(viii) What is meant by natural'sefection? \ \ e S~ yd et ol o 0 JE (vill)

4. Write short ansyars of any five parts of the questio. ‘\ (2x5=10) G feur ALl A
(i) What are garnivores? Give two types. / e UtsssrZslomdK (i)

(i) How dgeomposm reak down the comple; ! /ga’nlc corr)pdundﬁ S, u»L(:ll_/L'na;‘:C/’u/J./)z_.fdJ {ii)

(iii) Whatg( ou\{ncan b wmass? 1’ S szl o4 Feutgl (i)

(iv) What is demtrxf'rqatlon‘? \ { Sl inSed 556 65 (V)

{v) How gene of mtt.re\s is lsolat‘s{ﬁ L// Se bl o =)

(vi) Describe application o felmentaﬂnq;ﬁ Dairy products. ‘ufubdv’tb"f"“ /UMIA/L;A (vi)
{(vii) Cardio-tonic digitalis is made fr/c/)m’/which plant? "r_dbp }UC—L’/JK Sy (Vi
(viily Why tetracyclines are considefed broad spectrum antibiotics? “c_LW’JkatJ e res prLIpy A (vifi)

Section - II (924
Note: ~Attempt any two questions from the following: @x2=18) S felrlatrnadfetdits
> Pt e U0
(b)  What is arthritis? Write its types. 5 S F e el UE AT ()
6. (a) Write a note on Pancreas, 4) -”éﬁ/j/___)k/c‘f (-6

(b)  Explain how seeds are produced in flowering plants? (5)
(

-nyijwiC}J@gﬂu»;‘_’de)‘f (-.a)

7. (a)  Whatis meant by single cell protein? Describe its importance,  (1+3=4) - uy,.;g.nd/u'ﬂ.‘f,,r Vo't ¢M£14g}f ) W
{(b)  Describe the sedatives and narcotics categories of Lo (s E g nt p v (L)
addictive drugs. ; (2+3=5) - ok J(U'u'r Tkt Lot 3 (s
40-10-A




